


and B are in the ratioof 2: 3
respectively. . 6 yr hence, the ratio of their
~ ages will become 8 : 11 respectively. What is
B's present age? .
PAPSREE | A8yr b 24 yr d
Pt 27 yr d 28 yr ‘
. A are 15 books on a book shelf. Out of
12. The mean of five numbers is 42. If one of the scven books are on Mathematics, five

-mnnhers is excluded the mean gets reduced ooks are on English and the remaining

by 1. The excluded number is books are on History. If Ramesh picks a book

1€ of the above

2 0 ﬁ 5 at random, then what is the probability that
c 46 d 36
e > \ the book picked up is either on English or on
13. In the given figure, AOBis a dlam Hls“’?’? 4 ¥ P
| ~ circle with centre 0. If ZBOD =1 a - b= = )
L ZACD. 2 J, 5 15
| ;# | 19. In AABC, if ZA=2/B, then value of BC" is
1 D
e ¢
'y
a [5’*‘\ B c
c 30° a AC(AC+ AB) ;
area of the triangle with vertices b AB(AC + AB) '
yyand (2, 0) is 4 sq units, then the 2 AC+AB ‘
' d 2(AC + AB) !
b1 : | ,

20. H the coordinates of the end point of the
iy 2 diameter of a circle with centre (- 2y
APis 21 and (5 9), then what are the co s of

d None of these

! ﬂw.ﬁ" it B
d 'l;rﬁazm_‘§



b 562
¢ 585
S d 475

28. The value

$3x+dy=9and ax +3y =7 be a \/

‘8 as?
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3 b b.-a--; mrn (Q. Nos. 29-30) Given below
9

e vy 4 w“for) some data. On the basis of it, answer
N fch Bofn g Ao questions. '

L.‘- RALLR

28, 2(sin®0 +¢os°0) = 3 (sin® 0 + cos* 0) +1is
- cqualto ?‘50
Eé’ sl s b 2 \>
sy d 4 \v 40
24, A person can row 4 km upslm@a\gb 12 km 30
| ‘downstream in 4 h. If he ¢ 6 km
~ upstream and 6 km downs in 4 h. 0
~ Then, the speed of pegsohin still water and 2
- speed of current is
) T’ .4km,4km v 0 T : T r - —
“ih m, \ 0-10 10-20 20-30 30-40 40-50 50-60 60

29. The modal class of the given data is
a 10-20

‘25, The given figure shows line segment AB. P b 60-70
| and Q are points on AB such that c 20-30
| AP:PQ:QB=3:4:5 What are the A 4
coordinates of mid-point of line segment PQ? | :
8 30. The correct frequency table for tl
(7i=11) data is ]

af 4 8 1215 2 4 1
bf. 4 8 15 12 4 28
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